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No| P& wry] K& |¥ W N A5 BEUAE e aER
1|ewasa=riimssT #w 2 |1| 6.05 4| 8003 770 4/ 7.70 3| 29.45 2
2|enzsazrimasss == jagg |1 6.25 3| 8302 7.90 2| 6.50 4| 2895 4
3| miEsHiRssT it = [2]| 5655 560 5 7.85 3| 3.50 5| 22.60 5
4|z a=riianss Bx s |1| 670 2| 7.55 4| 7.25 5| 7.95 2 29.45 2
5| mrmsazriiersT & |2| 820 1| 870 1| 810 1| 870 1f 33.70 1
[25R]

No| Fm B zed I =T i ) [ 5 BEUE % = WEER
6|anasa=rimrsT Mo Bt |3| 7.65 3| 7.25 3| 8252 6.70 3| 29.85 3
7|enasa=rmmss7 Mg =g 3| 790 2| 810 2| 805 4| 775 1 31.80 2
8| mE=hiRy5T & e |3| 8401 825 1| 845 1| 7.10 2| 32.20 | 1
9| EE=1hiRsST mm =x 4| 635]4| 590 4| 815 3| 530 4] 2570 4
[356]

No| Fi B oy K & ¥ WD H [ 5 B 5 % = maEms
10| #miE5HRY57 ggy s 5| 0.00 8 0.00 8 0.00 8 0.00 8 0.00 8
11| B@ESkiRI57 Eom item | 5| 795 4| 845 4| 830 4| 7.00 5| 31.70 4
12| miEsHiRs57 Ew e |5| 6.7517| 590 7| 7.85 7| 4.80 7| 2530 7
13| Fantkigys7 w2 2y |6| 9.00 1| 860! 3| 8502 755 2 3365 1
14| sERf-yreEm W+ ®z |5| 7.20 5| 8305 860 1 7.15 4 31.25 5
15| smef-yrem me 1 | 5| 825 3| 9.15 1| 845 3| 7.20 3| 33.05 3
16|enssa=rimssT we BL |6| 840 2| 875 2| 830 4 7.65 1f 33.10 2
17|enssa=riimss7 == |6| 7.15 6| 7.85 6| 800 6 6.65 6| 29.65 6




